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o fé &% 4R BI"[H £/5Q1/5Q2(SQ3|SQ%|BP1 |BP2 BP3|BPE|DLI|DL2|DL3 | DLE
1 | 52Kghk | FBF WH | XU—F 1 37 | 50.80 | 100.0 | 100.0 | 105.0 80.0 90. 0 90. 0 140.0 | 155.0 | 165.0 100.0 80.0 | 155.0 | 335.
2 AR S | F3 ¥ HEhE 28 | 50.60 | 110.0 | 115.0 | 115.0 75.0 80.0 80.0 130.0 | 140.0 | 145.0 110.0 75.0 | 145.0 | 330.
3 e EfT | 4BV T 26 | 50.75 | 100.0 | 105.0 | 107.5 65. 0 67.5 67.5 130.0 | 140.0 | 150.0 100. 0 67.5 | 140.0 | 307.
4 | 56Kgfk | IR=E% | ha X HEER 54 | 56.00 | 130.0 | 130.0 | 140.0 105.0 | 110.0 | 112.5 160.0 | 165.0 | 170.0 140.0 | 110.0 | 170.0 | 420
5 INEERBR | AR 21| 56.00 | 130.0 | 140.0 | 140.0 70.0 75.0 75.0 180.0 | 185.0 | 190.0 130.0 75.0 | 190.0 | 395
6 Wl BEZ | hayEEE 37| 54.80 | 115.0 | 115.0 | 120.0 90. 0 95.0 95.0 130.0 | 140.0 | 145.0 115.0 90.0 | 140.0 | 345
7 | 60Kg#h | BEIR R | 4 AV =0T T 25| 58.50 | 70.0 75.0 85.0 70. 0 75.0 80. 0 100.0 | 120.0 | 135.0 85.0 75.0 | 120.0 | 280
8 | 67.5Kg | #Ak H- P -aval 37| 63.20 | 155.0 | 160.0 | 160.0 130.0 | 130.0 | 132.5 170.0 | 175.0 | 180.0 160.0 | 130.0 | 180.0 | 470.
9 g RE | 4BV TT 22 | 65.50 | 140.0 | 160.0 | 160.0 100.0 | 115.0 | 115.0 160.0 | 180.0 | 190.0 160.0 | 115.0 | 190.0 | 465
10 INIT RIS | AR 22| 64.70 | 150.0 | 160.0 | 165.0 90.0 |100.0 | 105.0 190.0 | 200.0 | 205.0 160.0 | 100.0 | 200.0 | 460
11 WEAT B | XU —F A 26 | 67.45 | 130.0 | 147.5 | 147.5 90.0 | 100.0 | 105.0 170.0 | 180.0 | 190.0 147.5 | 100.0 | 180.0 | 427
12 MEEF PR | A -0 T 37| 66.40 | 140.0 | 145.0 | 145.0 95.0 97.5 | 100.0 155.0 | 155.0 | 160.0 145.0 97.5 | 155.0 | 397.
13 R B | 4BV TT 38| 65.0 |130.0 | 135.0 | 140.0 100.0 | 100.0 | 100.0 140.0 | 150.0 | 160.0 135.0 | 100.0 | 160.0 | 395.
14 | 75kgfk | R =AS | BV U-C 33| 73.55 | 140.0 | 140.0 | 150.0 130.0 | 135.0 | 140.0 160.0 | 160.0 | 190.0 140.0 | 135.0 | 160.0 | 435.
15 g A= F5T 26| 72.80 | 80.0 95.0 | 105.0 75.0 85.0 90. 0 110.0 | 130.0 | 150.0 95.0 85.0 | 130.0 | 310.
16 INEE [EHE | U YN —C 29 | 74.35 | 80.0 90.0 | 100.0 70.0 77.5 85.0 110.0 | 130.0 | 145.0 90.0 77.5 | 130.0 | 297
17 Bk EF | mEEHEE 26 | 71.70 | 195.0 | 205.0 | 205.0 135.0 | 140.0 | 140.0
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19 |82.5Kg | ZH ®in |/ AV -2 TF7 29 | 78.45 | 150.0 |[150.0 |170.0 130.0 | 140.0 | 145.0 140.0 | 150.0 | 160.0 170.0 | 140.0 |160.0 |470.0 1
20 FRyOE | AR 25| 79.50 | 150.0 | 150.0 | 160.0 100.0 | 110.0 | 110.0 175.0 | 180.0 | 185.0 150.0 | 100.0 | 180.0 |430.0 2
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21 T B | 7T -T¥ 41| 82.20 | 125.0 | 130.0 | 140.0 87.5 | 92.5 | 95.0 120.0 | 135.0 | 145.0 140.0 | 95.0 |145.0 [380.0 3
22 KIF & | AR 20

23 | 90Kgitk | bH W#E | AU —T A~ 30| 87.75 | 135.0 | 135.0 | 150.0 120.0 | 130.0 | 140.0 165.0 | 180.0 | 190.0 135.0 130.0 | 180.0 | 445.0 1
24 | +90Kg | RH EA | A—"—C4HE | 24 |107.45 | 170.0 |200.0 |210.0 150.0 | 170.0 | 180.0 190.0 | 210.0 | 235.0 200.0 170.0 | 235.0 | 605.0 1
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